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30. fi#:

(DI =P./U (1 43)=3W/6V=05A(14)

(2)R=U/(1-1) (14)=6V/ (15A—05A) =6 Q(1 %)

(3)P=UX1(143)=6 VX 1.5A=9 W (1 4})

31. f#:

(1)Q g=cm (t—1to) (1 43)=4.2X10% J/ (kg * ‘C) X1.5 kgX (100 ‘C—25 °C)

=4.725X10° J (1 4})

@)=Q w/ W (1 43)=4.725X10° J3/5.25X 10° J=90 % (1 4})

(3) HEE—: REHE/KIZIER TIE, Win#k 350s, HEAMII W=Pt=

1500 WX 350 s=5.25X10> J(14}) (14}

FEEZ: HKEEZBREIIE P=W/ t=5.25X 10° J/ 350 s=1.5X 10° W(1 4)

HE=: MRBEKEERETHE, HBEIREANE, RXEKFERE t=W/P

=5.25X 10° J/1.5X 10° W=350 s(1 43) ¥t PR s kK B IE 8 TAE(L 4)

32. fi:

(1) W=750r/ (3000 r/kW = h) (143)=0.25 kW = h(1 4})

(2) FBIEE (R A 70 % R=180 Q (1 4")

I=U/(Ro+R) (14})=24V/ (120 Q+180 @) =0.08 A (14)
(3) AREREZE, BEEREHRKA 15V B, B Unew=15V, 18EHRE R FE
AR KH, Ui= U= Una=24 V-15 V=9V R ma= (Umax/Uo) X Ro=(15V/9 V) X 120
Q=200 Q, EIFXMHEIEERN 80% (143); 4 | 4ex=100 MA=0.1 A i}, JR&EH
BB/ R sms=U/l g5x=24 V/0.1 A=240 Q, R min= R sas— Ro=240 Q-120 Q=120 Q,

Bt M EFEEEA 40% (14)) EERBNERTEER 40%0—80% (14)
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